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[ R = 32,000 x1H »18L 576
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=l SIS K| 70,0003 «12 128 840
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SRl HE S AKX IE ZAL (ctel &
S _ - rSIE[=S =
SH-EFHHA(FA) - NIRAE - BES Ol AFoH @E% HusZ
1.2SAEIISRS ST
0,000& 10 x53] 3,500
02 S==294l 8,100 9,555 A 1,455
(SSL2LHA) 9,000
1.OHESAIXIF Z2HSXE  300&*30,00024 9,000
(Ol arE ) 9,000, 000& *~10% A900
HegRd=s 210 = 9,870 10,920 A 1,050
201 etgh| 9,870 10,920 21,050
01 AtR22ldl 9,870 10,920 A 1,050
(Let=EHl) 10,500
1.gH 8 AFH(NLEES)
700,000& x15A4 10,500
(ol arE 2t) 10,500, 000-& *-10% A 1,050
(2d+g) 420
LHLEES HeYF2lALs AT
70,0003 x3H x23| 420
ANEsE & NBESF 8,420 20,365 A 11,945
NEFS JIEE 22 5,850 6,500 A 650
201 etgH| 5,850 6,500 2650
01 AtR22ldl 5,850 6,500 A650
(Let=EHl) 6,500
LURSSIER(E2E) 52442
130, 000& 508 6,500
(Ol AarE ) 6,500,000 *—10% AB50
ANEIZE Fel 2,570 13,865 A11,295
201 LEt23| 2,570 2,865 A 295
01 AtR22lH| 441 500 VANGY]
(geta=Hl) 490
1. E22EUCEXN(YREEE)NE
35,0003 1074 350
2.Z2ANMEXN(ERE=E )M 7,000 *200H 140
(Ol AF R ) 490, 0003 x—10% N49
02 =323l 2,129 2,365 A 236
(A2 &HIKXHl) 2,365
1.58J1J] SAE=Hl 20,000,000 *5% 1,000
2. NHEBZFH SXE=H 27,300,000 «5% 1,365
(Ol AFE ) 2,365,000 *»—10% A236
234 22| 7,225 9,133 A 1,908
SSASIHGA 22|l & AHeHIF A 1,585 3,500 A1,915
201 LEt23| 585 2,500 21,915
01 AtS2t2ldl 585 2,500 21,915
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FM: EXNEER
g3 EX 2 NH 2e

@t M=4 2 EXNSEEHEL 2 (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
u.=5= 32,0003 x2H x22 1,408
Ct. x4 32,0003 »2H +5& 320
SIS EY/ Fals] 8,768,000 *3.5% 307
2. NEEEZ 9,075,000& *1.3% 118
3.30UAHLEE= 9,075,000& *2.54% 231
4. =28AZ 9,075,000& *4.5% 409
5 4MEE= 9,075,000 *4.712% 428
6.2 IRYEE= 223,000 & *4.05% 10
201 LBt 3AH| 4,554 5,663 21,109
01 AtE22/Hl 4,020 5,070 A 1,050
(get=dl) 3,300
1.EE2HEEH ARE(MFARHAIE2E) 3,300
DR =PN 108,000& *152 1,620
L¢3 28,0003 501 «12& 1,680
(ol arE2) 3,300,000 *—10% A 330
(2g=+¢) 1,050
1. XNEAS f3+E 70,000 x5H *13] 350
2. M=ARARS A=Y 70,0002 x5H*23] 700
02 =234l 534 593 AB9
(A2 &HIRXI8l) 593
1.22HZ e |RXE=Hl 11,858,000 5% 593
(ol aFE ) 593, 000& *-10% AB9
401 A &HIL 2048 1,000 10,500 29,500
01 Al&H| 1,000 10,500 29,500
1.E2F8 M- 42X € SN2+
50, 000& 204 1,000
C2Y =4 ot & Xl 25,300 0 25,300
201 LBt A Y| 25,300 0 25,300
01 AtE222|H] 12,800 0 12,800
(eer==&Hl) 12,800
1. E2HF=A DX24  80& %160, 0004l CH 12,800
02 EE=234l 12,500 0 12,500
(S323LHA) 12,500
1.2E28Fa 2 dAURE =2
300& +30, 000AI CH 9,000
2.8tE82 SIIREE 1,750& *2, 000 Al CH 3,500
EXNSEEEY 2 5,684 5,775 A9
201 LBt 3| 5,684 5,775 A91
01 AtE22/Hl 639 710 AT
(get=dl) 710
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A& E 0

2R 22

L ZRMMO aEm0l B o
SN EY O (BH) - MRAY - BLS Aol e =2
- 100
6.98= 1,004
Jb.S0I 1,750& »480A 840
Al 420
- 420
L. et 2502 *656 24 164
Al 82
- 82
7.H2UAEAMNI ARS 300,000& x4 3| 1,200
Al 600
- 600
8.ZCHEEE ARE 300,000& *23] 600
Al 300
- 300
(=&l) 2,400
1.235 et OH=2HCH FPERsseE=
22X 003 *»4H x 104!+ 12& 2,400
Al 1,200
- 1,200
= - SSEE AEH AL 20,396 24,104 3,708
Al 10,198
- 10,198
101 1 H| 14,396 15,704 A 1,308
Al 7,198
- 7,198
04 JIZtM22XSE+ 14,396 15,704 A 1,308
(2. SR MEAIH I R) 14,396
1.8 12,719
Hol==2 32,0003 »2H » 155 9,920
Al 4,960
- 4,960
L.=5=4 32,0003 x2H x30 1,920
Al 960
- 960
Ct. oA X< 32,0003 »2H+7 448
Al 224
- 224
S/ Falsl 12,288,000& *3.5% 431
Al 215
- 216
2. 1EEBE= 12,719,000& *1.3% 166
Al 83
- 83
3.3 ZRE=Z 12,719,000& *4.5% 573
Al 287
- 286
4. AL EEEEZ 12,719,000 *2.54% 324
Al 162
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Al 300
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6.2IQULER 331,000 *4.05% 14

Al 7

2 7
202 01| 6,000 8.400 A2,400

Al 3,000

-l 3,000
01 =LHOIHI 6,000 8.400 A2,400

1.2 - ZRMAAEHEA

20,0002 *52 *52 * 122! 6,000

Al 3,000

2 3,000
HEHSHAY (EXNELD) 118,323 132,454 A14,131
ol 29| 41,886 44,467 2,581
ol 2oyl 41,886 44,467 2,581
101 Q1218 33,486 36,067 2,581
01 E= 33,486 36,067 A2,581

(=) 33,486

AR 2R 33,486

b.52 9,79621 %124+ 15A| 2H+ 122 1,764

Lt.62 8,31221+7H *15A| 2H+ 128 10,474

.72 7.45721 %8+ 15A] 2+ 128 10,739

2t.82 (IS Zat)

6.88221 521 * 15A| 2H+ 122 6,194

0r.92 5,99321 *42 x 15A| 2+ 122 4,315
203 AL EZ Y| 4,200 4,200 0
04 BEN2ALREZY| 4,200 4,200 0

1L REAegAR SR 350,0002 122 4,200
204 X243 A 4,200 4,200 0
01 Rzl R4aH A 1,200 1,200 0

1AM HREAY| 100,0002 * 124+ 128 1,200
03 SRS 3,000 3,000 0

1A YRS 50,0002 *5% * 122 3,000
=&l 76,437 87,987 A11,550
Jl=&| 76,437 87,987 A11,550
201 L2y 18,457 21,507 A3,050
01 AtR 22| 15,966 18,740 N2, 774

(Ler24) 10,540

12N 200, 000! +24 % 4,800
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? Jl=34l (etel: =3
ZE - (BH) - NRAY - BaS sl e HlRE2
2. FAXZHARS 940
JHEU 90,0003 »2CH *32 540
LU.cd 200,000& »2CH =13 400
3.0 MEHARS 4,800
JHEU 200,000 *157H 3,000
u.ced 300, 0003 64 1,800
(Stl) 7,200
1LEXNZEENE =AU I|I=2 =44
5,000 x24H 541« 128 7,200
(ol atE2) 17,740,000& »—10% AN1,774
3234l 2,491 2,767 N276
(ES23LHA) 2,767
1.283 2,767
Jb. &8t 2503 * 16424« 128 492
L. S 1,750& 1,300 2,275
(ol arE2) 2,767,000 *—10% AN276
(Gll=] 55,680 66,480 A 10,800
=LH0dHl 21,120 21,600 A480
TAEHLGHRFEII=0HI
20,0003 x 10 11+ 122 x80% 21,120
RG] 34,560 44,880 210,320
1.XJt22] IHESAIXIIF ALY S
240,0003 x5 12 »80% 11,520
2. X"z EX0ISXZALE SR
240,000 4 »12= »80% 9,216
3ESMRE U BHLADEHS
240,000 3«12 »80% 6,912
4 EXNFZE M=LAEE2 ZAMSR
240,000 3 12 »80% 6,912
405 AHoHESHI 2,300 0 2,300
01 HARESFSH 2,300 0 2,300
1. As S0 2,300,000& «1CH 2,300
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